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program project2;

{Smode objfpc} {S$SH+}

uses
{SIFDEF UNIX}{SIFDEF UseCThreads}
cthreads,
{ SENDIF} { SENDIF}
Classes

{ you can add units after this };

function Ok (i: longint) :boolean;
var
sum: integer;

begin

while i <> 0 do

begin



sum := sum + i mod

i := i div 10;
end;
if sum mod 2 = 0 then
ok := false
else
ok := true;
end;
var

A, B, i, Ch:longint;
begin
Ch := 0;
read (A, B);
for i := A to B do
if Ok (i) then
Ch :=Ch + 1;
writeln (Ch);

end.

BanaHue3 (15/15 Gannos)

program program3;

{Smode objfpc} {SH+}

uses

10;



{SIFDEF UNIX}{S$IFDEF UseCThreads}
cthreads,

{SENDIF} {SENDIF'}

Classes

{ you can add units after this };

function TenToTwo (x: integer) :string;
var

s, del: string;

i: integer;
begin

s = "'"';

while x <> 0 do

begin

str(x mod 2, del);

s := del + s;
X = x div 2;
end;

if length(s) < 8 then

for i := 1 to 8-length(s) do
s = '0" + s;
TenToTwo := s;
end;
function Numl (s: string): integer;

var
i, Num: integer;
begin
Num := 0;

for i := 1 to length(s) do



if Copy(s, i, 1) = '"1l' then

Num Num + 1;
Numl := Num

end;

function Power (a, b: integer) :integer;

var

X, 1: integer;

begin
x = 1;
for i := 1 to b do
X = a*x;
Power := x;
end;

function TwoToTen (s: string):

var

x, 1, del, err: integer;

begin
x = 0;
for i := 1 to length(s) do
begin
val (Copy (s, length(s) + 1
X := X + del*Power (2, i
end;
TwoToTen := x;
end;
var

Min, A, B, i, m: integer;

integer;
-1i, 1), del,
1);



s, X: string;
begin
Min := 257;
read (A, B);
for i := A to B do
begin
s := TenToTwo (1);
if Numl (s) mod 2 = 0 then
begin
if Numl (Copy (s, 1, length(s) - 1)) mod 2 = 0 then
x = '0"

else

S := X + s7
s := Copy(s, 1, length(s) - 1);

m := TwoToTen (s);

m := 1i;

if m < Min then

end;

writeln (Min);

end.
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program projectd;

procedure FindNum

(Ok: boolean; wvar Num: integer; i,
begin
if i = n then
Num := Num + 1
else
begin
if ok then
begin
FindNum (not Ok, Num, i + 1, n);
FindNum (Ok, Num, i + 1, n);
FindNum (Ok, Num, i + 1, n);
end
else
FindNum (not Ok, Num, i + 1, n);
end;
end;
var
n, i, Num: integer;
ok: boolean;
begin
readln (n);
// OK = true => P—P°C..PIP°C, PiPsPrPSCIIC,
// OK = false => P—P°C..PIP°C, PsPiCiC%PuPS
i := 0;
Num := 0;
ok := true;
FindNum (ok, Num, i, n); // P PpPeCrCBCI'PEPIPSP°CII

PiCBPsCTPuPrCrChP°

n:

integer);



writeln (Num) ;
end.
Banmaume5 (13/27 6Gamnnos)

program projectl;

function Power (N, len:
var
X, 1: integer;
begin
x = 1;
for i := 1 to len do
x = N*x;
Power := x;
end;
var
s, X: string;
N, Num, Len, i, sum,
begin
read (s);
x := Copy (s, Pos(' ',
s := Copy(s, 1, Pos('
val (x, N, err);
Num := Power (N,
sum := 0;

integer) :

err:

longint;

longint;

length(s));

// PSP&CIP»Ps CI'P»PsPI



for i := 1 to N do // PYC+P&C,P°PuPj PePsP»-PIPs P+CrPePI PI
PsPT'PSPsPj P+P»PsPePp (P&P -PjPuPSCILIPUC,CI'CIl C, PsP»ChPePs PePsP»-PIPs
CKC, PsPNe P+CHPePIC«)

sum := sum + 1i;

sum := sum*Power (N, length(s) - 1); // PYC$P&C,P°PuPj PePsP»-PIPs
CKC, P&C.. P+P»PsPePsPI P& CfP-PSP°C‘Pj PePsP»-PIPs PsPTPSPsPI
P+CHPePIC< PIPs PICIPuC.. CI'P»PsPIP°C..

Len := sum*length(s); // PJPjPSP°PIP°PuPj CKC,Ps PePsP»-PIPs PSP°
PePsP»—-PIPs P+CiPePI

writeln (Num, ' ', Len);

end.
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program projectl;

procedure FindNum (n: integer; i: longint; Numl, NumO: integer; var
Num: longint);

begin
if i = n then
Num := Num + 1
else
begin

i =1+ 1;

FindNum (n, i, Numl, NumO + 1, Num);
FindNum (n, i, Numl, NumO, Num);
FindNum (n, i, Numl, NumO, Num);
FindNum (n, i, Numl, NumO, Num);

FindNum (n, i, Numl, NumO, Num);



if NumO > Numl then
FindNum (n, i, Numl + 1, NumO,
end;

end;

var
n, Numl, NumO: integer;
Num, i: longint;

begin

readln (n);

Num := 0;
i = 0;

Numl := O;
NumO := 0;

FindNum (n, i, Numl, NumO, Num);
writeln (Num);

end.

BanaHue7 (30/30 6Basmnos)

program project7;

var

N, i: integer;

VvV, Mass, p, x1, x2, a, b, ¢, d, k, H:
begin

read (N);

Num) ;

real;



vV := 0;

p := 19.05;
for i := 1 to N do
begin
read (x1, x2, a, b, c, d);
k := (x2 - x1)/100000;
while x1 < x2 do
begin
H := a*sgrt(x1l)+2*x1* (b*sqrt (x1)+c)+d*1n(x1+1);
V := V + k*sqgr (H) *pi;
x1l = x1 + k;
end;
end;
Mass := V*p;

writeln (round (Mass)):;

end.



